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Philosophy Quiz 21 – Three Modern Masters 
 

ONLY write or type the letter or letters of your answer (for example: A, B, C, etc.) for 

each question to the right of the arrows.   DO NOT include anything else for your answer. 

 

(21.1)    à   

(21.2)    à   

(21.3)    à   

(21.4)    à   
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          Score: _______ / 4 
 

(21.1)  Darwin’s theory of evolution raised problems for the traditional argument 
from design since: 

  [A] according to Darwin, there is no design or order. 
  [B] design and order could be accounted for naturalistically. 
  [C] God cannot be all things, otherwise, God cannot exist. 

 
(21.2)  The idea that man has no purpose is central to the ideas of: 

  [A] Charles Darwin 
  [B] John Henry Newman 
  [C] Sigmund Freud 
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(21.3)  Newman’s most central thought was: 

  [A] faith is a reasonable act. 
  [B] faith requires no reason. 
  [C] all reason is based on faith. 
  [D] only human will is based on faith. 

 
(21.4)  Freud believed that: 

  [A] our sexual impulses are fully conscious. 
  [B] dreams tell us nothing about our unconscious thoughts. 
  [C] patients talking to their doctors is a waste of time. 
  [D] society is to blame for mental illness. 

 


